College Algebra Name ﬂ gManu

Unit 6 LT 2 Practice Day 2 Date Period

Solve each equation for exact solutions over the interval of [0°, 360°) If necessary,
round answers to the nearest tputis. wundved g

1.) tan’ x = tan x 2) csclx—-2=-cscx -2

Hn*x - tanx =0 cSCix + ¢SCX ~ 2 =0 L>§‘

tan x (tenx -1) =0 (csex +2)(cex=1) =0
) A =
. 0 - 2l X= = Qin X
(x: O, 180, 4s° zzﬂ . x
)(: 2\00.) 3%O°7 qoo

3.) cot’ x+4=7 4.) cosx—4=3cosx
“(,CZ;(’; 3 -4 = 2cosx

ot x = 1\1\}5 2 cos X

tenX = + 1Y &
3 % ijw
gz 1507, 1\01 3@

5.) sec? x —7secx=—12 6.)  (2sink7)(tanx+1)=0
SO x- Fseex +12=0 %Cnx-—}i tan X = -
Iz LA
Sa (seex-D(seex -2) =0 .
-+ Qecx=¢ wex = 3
COSX= I esx= X L= DT, DS




Solve each equation for exact solutions over the interval [0, 27). If necessary, round
answers to the nearest ténthts. \uonQrecking |

7.) 4cos’x-1=0 8. 2cot’ x+6=13cotx
N cos?y :\(\? 20t X - 13 cotx +l =
Cay = & ) (2 cot x- V) Ceotx-6) =0
P13 cotX = _‘i cokx = (@
(‘X:% 7;‘% ‘-\j% ’5_’\1’ tapx = 2L ‘cemx—'--‘cp
> b > 3 ' — -
LT \Em

9.) 2cosxtanx—tanx =0 10.) secxcscx++2cscx=0
Fan X (Zcosk- 1) =0 esex (Secx L) =0
anx =0 COSX = -\5_ CsC x=0 sCex = —~2
NG Cosx = -\ 12
X= 0,1 T Sy 2 2
27 3, 3
x=3" S
4>
11.) ltanzx=2 12.) 3esc’lx—-2=4
2, Q%Ql)( = (o
X =4 CSCr X =72

csc x = ¥{2

sinx=1 L _x42
T2 2




